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N.B: (1) Attemptany five questions a minimum of two questions must be from each section.
(2) Answers to both the sections should be written in the same answer book.
(3) Figures to the right indicate full marks. '
(4) Use of simple calculator is allowed.
-(5) Graph paper will be supplied on request.
- (6) Attach the graph paper inside the answer book.

Section - I

1. Attempt any two of the following :— v S 20

(a) Define Research. Explain various types of research.

(b) Discuss the steps in the research process. '

(c) State therole of computer technology in research.

20

2. Attempt any two of the following :—.

(a) Describe the scales of measurement.

(b) Discuss merits and demerits of sample survey method.

(c) Explain probability sampling methods. '

3. . Attempt any two of the following :— , 20
(a) Write anote on 'Interview method' of data collection.
(b) Explain merits and demerits of observation method.
(c) Giveareport ona case study that you have undertaken.

4.  Attempt any two of the following :—

(a) (i) Write a note on classification.
(ii) Graphically locate mode for the following data. 6

Salary (¥) |1000-2000 [2000-3000 | 3000-4000 | 4000-5000 |5000-6000 '

Numberof | 5, 55 . | 85 65 30
workers ‘

Db

(b) Calculate coefficient of quartile deviation for the following data :— 10
Marks 0-10 | 10-20 20-30 30-40 40-50 | 50-60

Numberof | 5 | 15 | 25 30 20 10
students\ . B

(¢) Calculate coefficient of variatiori (CV) for the following data :— _ 10
Height (cm) | 120-125 |125-130130-135[135-140 | 140-145[145-150]150-155

Numberof | 5 | . 5 o |15 | 10| 6 | 2
persons . . .
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Section -I1 -

5. Attempt any two of the following :—

(a) Calculate Karl Pearson's coefficient of correlation for the following data :—

X 10 8 7 9 6 3 2 4
Y 6 7 9 10 8 10 11 12
(b) Find Regression Equation of Y on X from the following data :—
X 5 10 5 |11 (12 | 4 | 3 2 701
Y 1 | 6 2 | 8 5 1 4 16 512
(c) Fitatrend using the three yearly moving average method :—
Year 12000 | 2001 | 2002 | 2003 2004 | 2005 | 2006
Sales |\ 40 | 46 | 52 | 55 60 | 64 | 69
(000%) | , ‘
6.  Attempt any two of the following :—
(@ (i) Explaintheuses of Index Numbers.
(ii) Find Real Income for the following data :—
_ Year 2005 | 2006 2007 | 2008 | 2009
_Income (%) 120 | 132 143 150 | 171
Index Number 100 | -120 130 150 | 180
(b) Construct Fisher'sIndex Number for the following data :—
Items 2000 ) 2012
| Price (%) | Quantity (kg)|Price (¥) |Quantity (kg)
A 10 50 15 45
B 12 - 40 14 40
C 13 30 14 35
D 15 20 20 20
" (c) Calculate Cost of Living Index Number for the following :—
' Group Index(T) | Weight '
Food 300 47
Fuel and lighting 250 10
Clothing 220 08
House Rent 150 20
Miscellaneous 200 15
‘ [ TURN OVER
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7.  Attempt any two of the following :— : 20
(a) State various types of hypotheses. ‘
(b) What are the criteria of a good hypothesis?
(c) Explainthe following — '
(i) TypelandType Il errors.
(i) Level of signiﬁcance.

8. Attempt any two of the followmg — ) - 20
(a) Discuss the meaning and s1gmﬁcance of aresearch report.
~ (b) Elaborate on the structure of a research report.
(©) State the precautlons to be taken while writing a research report.
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(2) Type I and Type II errors.
(R) Level of significance.
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